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SECTION ONE - Statistics (15 marks)

a s » =

Answer all questlons

- Show all necessary working where more than one mark Is a]located toa questinn.

Full marks will not be awarded for answers only,
Marks may not he awarded for careless or badly arranged work,
Calculators are allowed and SHOULD BE USED

1. Use the following set of scores the answer the guestions below: 4}
4526484154094
a) Range= o ~ b} Median=
¢} Mode = - d) Mean =
2. Use the following set of scores to answer the questions below:,
11 12 14 15 ¥ 10 16 20.13
a) What s the five-point summary for this data? )
b) Use the flve-point summary to find the inter-quartile range. - (1)
¢} Draw a box and whisker plot, labelling all five paints clearly. {2)
| 3 1 b [ 1 1 L
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3. Describe the skewness of the data represented in the dot plot below. {2 6. Create a scatter plot for the following table of values and then describe the (2}
! : relationship (if any) between the variables.

K
® : :'. ) x 1 2 2 3 4 5 6 7
® ® & & & o ¥y 3 5 7 7 9 9 8 10
® & & & o %
] i 1 t 1 Lol !
1 T 1 T 1 | MR :
1 2 3 4 5 6 Fi !
-Seores

4, Calculate the mean {#) and standard deviation to one decimal place forthe (2}
following set of data: 1 O /N

23 24 22 20 21 22 28

Mean (X} = Standard deviation =

5. Use the line of best fit drawn on the scatter plot below to find the equation 2] -
of the line. o :
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SECTION TWO — Area, Surface Area and Volume (20 marks} b}
1. Find the area of the following shapes, showing all working out. {2)
a) -’ b} [
_ I
. 3. Avase Is In the shape of a cylinder with no top. it has a diameter of 12cm (2]
: and a height of 7cm. Calculate the surface area of the vase, correct to the
nearest square centimetre. :
2. Calculate the surface area of the following prisms, showing all werking out.
a) ' boof2)
!
\'
|
|
4, Caleulate the valume of the following 3D shapes, showing alt working out.
; a) ‘ (2}
i




b) ) ‘ ) 6. Apool is being made in the shape of a trapezoidal prism as shown in the
‘ ] diagram. Find:
a). The surface area of the pool that needs to be tiled. ' &
‘ " 7 50m
: : |
T | 3.2m
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5. The volume of the triangular prism below is 66m?. Calculate the f3) : . ]
perpendicular height of the triangular face. ’ 1y
- by The volume of the pool. . :
.
|




SECTION THREE — Geometrical Figures (10 marks} 3. Prove that triangle ABD is congruent to triangle BCD and use this to find the (4
- . value of a.

1. Find the value of x, giving reasans. : {3)

P

e

4

2. Prove that triangle ABCis congruent to triangle DEC, giving reasons. . E




SECTION FOUR — Similarity {20 marks)

1. The following two figures are similar. 2
a)” What side corresponds to side BC? '
b} What anglé corres’pond's to £DEA?
2. These two kites are similar In shape. First find the enlargement factor and {2)
then use this to find the value of x
{3)

3. Prove that triangle ABC is similar to triangle ADE, giving reasons.

4. These two rectangles are similar. The area of the smaller rectangle is 35cm?,

Find:

. . 1)

a) The ratio of the smaller side to the
larger side.

b) The area of the farger rectangle {2}




SECTION FIVE - Trigonometry {16 marks)

1. Labe-l the sides of the following triangle according to the angle marked
Adjacent= o

«
Opposite =

Hypotenuse = -

{3)

Convert 51.67° to degrees and mintites {to the nearest minute),

{1

Convert 112°32'14” to two declmai places.

(1

Find the value of cos 56°23’ to three decimal places.

i

-

Find the value of #1f sin# = 0.216 (to the nearest degree)..

(1

6. Find the value of the prendmeral, showing all working out:

T

7. Find the value of the missing angle, giving your answer to the nearest
degree.

@2

8. Aplane sits at the end of the runway, d metres from the base of an 85m

high conirql tower. The angle of depression from the top of the tower to
the plane is 8°. Calculate the length of the runway.

i
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9. A ship leaves Coffs Harbour and salls 320 km east, It then changes direction (3}
and sails 240 km due north to its destination. What will the ship’s bearing
be from Coffs Harbour when It reaches its destination, correct to two
decimal places? (HINT — Draw a diagran to help you}.

SECTION SIX — Probability {8 marks)

1. What is the sample space when rolling 4 standard die? ' ]

).

2, Asingle card is selected from a standard deck of cards. Calculate, as a
fraction in its simplest form, the probability of selecting:

a) Avedcard '

e TR

{3)

b} Acardthatisa®

¢} Acardthatisnotag ¢

3. In a bag there are two blue marbles, 1 red marble and 1 green marhle. Two

marbles are chosen at random without replacement. .
a) Draw a tree diagram o represent all possible combinations.

b) Use your tree diagram to .t.:alculate the probability of choosing:
i.  Ablue marble and then a red marble

ii. Two marbles of a different colour

2

{1}

(1




SECTION SEVEN — Multiple Choice

Select ONE answer per question and circle your respanse. Each question Is worth one mark.

1. From the diagram below, what Is the value of x?

A. 31° B. 149° c s D. 155°

2. Iftwo adjacent angles add up to 90° what type of angles are they?

A. Congruent 7 B. Suppleméntafy C. Co-Interior D. Complementary

3. A standard die Is rollad, What is the probability of rolling a multlp[e ofthree,
expressed asa fraction in its simplest form?

2 ! c - o L
A. P -3 -3 -
4. A coin s tossed six times in a row. What is the probability, as a fraction, of getting
six tails in a row?
1 i o1 3
. . Pl D. —
A & . B 64 - C 2 1 -
5. The mean of three scores Is 21, If a faurth score of 31 is added what Is the new
mean? . :
A 235 . B. 23 C. 24.5 D. 26
6. The volume of a cube Is 614.125 cm?®. What is the length of one side?
A. B5cm B, 208.7em? G 102 cm? D\ 114cm

END OF EXAM




SECTION ONE — Statistics (15 marks)

1. Use the following set of scores the answer the questions below:

2648415494

L a4 USShgq

4}

a}) Range— / - by Medlanﬂ H /

c)- Mode= 4} /

d) Mean= 1.4 /

3. Describe the skewness of the data represented in the dot plot below. f1)
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2. Use the following set of scares to answer the questions below:
1 12 14 i5 1 10 16 20.13-

o U HIABI IS (6 2O

a} What is the five-point summary for this data?

minz1o G o1 Qg o O Sty Mo Do

b} Use the five-point summary to find thenter-quartile range.
A Q=0 -0 /
IGR= 4.5 '

. ¢} Draw a box and whisker plot, labelling all five points clearly.

/ - {1

11

(2)
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4, Calculate the mean [#) and standard deviation to one decimal place forthe {2}
following set of data:

23 24 22 20 21 22 28

Mean (%)= 7). < / Standard deviation = ':1 .H

5. Use the line of best fit drawn an the scatter plot below to find the equation (2} -

of the line. _
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6. Create a scatter plot for the following table of values and then describe the 2 SECTION TWO — Area, Surface Area and Volume (20 marks})
refationship (if any) between the varlab[es._ 1. Find the area of the following shapes, showing all working out, {2)
a) . b)
X 1 2 2 3 4. 5 6 7 .
y 3 ' - 9 © 10
A pos}Hv{ deletionship. _
, L “H2em
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6 “ - ﬁ-i/ 2. Calcﬁlate the surface area of the following prisms, showing ‘aI[ warking out.
L . . YO W A ‘_Jr-- JRN DY N & U N ‘a) (2)
1 - . -
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3. Avaseis in the shape of a cylinder with no tap. It has a diameter of 12cm 2) . c} @ U- A’L I
and a height of 7cm. Calculate the surface area of the vase, correct to the ) ‘ u- (.7,7 ¥ 5-1) ™, 6
t timet - -
nearest square centimetre. :)P( F C‘jl Y‘JQV 2]—(}" Plﬂ‘( ) )
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5. The volume of the triangular prism below is 66m>. Calculate the (3)
_ perpendicular height of the triangular face,
4. Calculate the volume of the following 3D shapes, showing all working out. . .
~ (% bh) x b
a) Vs AL | g é/é = (A bh) 3.
U= 1% X35 AR
L- . A 1 ’ 211—\
. L= S"Sm
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6. A poolis being made In the shape of a trapezoidal prism as shown In the

diagram. Find: ;3
a}- The surface area of the pool that needs to be tiled. )
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b} The volume of the pool.
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SECTION THREE — Geometrical Figures (10 marks]

1. Find the value of x, giving reasons. {3}
LBDA:?%}LBUM ot d)
xS Lleve LYY

()

2. Prove that triangle ABC is congruent to triangle DEc; giving reasons. .
DL = AC Lg)swmz/
ECTBL (9iven)
LDE: LAB (. 2%
LA AR T DEC (5852

/e




3. Prove that trlangle ABD Is congruent to triangle BCD and use this to find the {4)
value of a.

L iwin
a é@& (3?1/%)2/
120° 3 (owmavny
.,AMSD = ABW($53)
Po a0 (rrabohing 1)

\ﬁf 0 st
JB)W

SECTION FOUR — Similarity {10 marks)

1. The following two figures are similar. 3 {2)

a) What side corresponds to side BC?

b) What anglé corres’pond's to £DEA?

LopL. -

2. These two kites are simflar in shape. First find the enlargement factor and {2)

then use this to find the value of x.

MJ&rgWﬂi bocdov = 16 v

SUT m.q

i
13

3. Prove that triangle ABC s simitar to triangle ADE, giving reasons. (3

Z_ BA‘C _ZDAE (LommanX o

[ Abe - LABL Clove. L's)
JAeD=LADB (o L'Y) -
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4. These two rectangles are similar. The area of the smaller rectangle is 35¢m?,
Find: ‘

a) The ratio of the smaller side to the
larger side.

10 o«'q

b} The area of the larger rectangle

| }\e-’dvﬁ ot S»mdé-f N,Jofm!j[t =

?j—ffz = Qe
_ = g
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SECTION FIVE — Trigonometry {16 marks)

1. Label the sides of the following triangle according to the angle marked.

Adjacent = A3

Opposite = (,B ‘

Hypotenu§e= AL 1

{3

2. Convert 51.67° to degrees and minutes {to the nearest minute}.
§1.° vo'

(1)

3. Convert 112°32'14” to two decimal places.

W2 s (L gl

b

f1)

4, Find the value of cos 56°23" to three decimal places.

O.5TULD ob )

{1

. Find the value of 8 if sind = 0.216 (to the nearest degree)

g~ e

ez |

(1)
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6. Find the value of the prendmeral, showing all working out:
S]NE fLULE : 1o
ot —— = g”‘l{’ol [
o - X S

Sialkyy Gn S0 \*5-‘/13 Trr\% Eelaﬁrmj‘

(2

|
i

7. Find the value of the missing angle, giving your answer to the nearest {2
degree. - UR3
’ L o> ﬁ - 45.9
8. Aplane sits at the end of the runway, d metres from the base of an 85m {2)

high contro_l tower. The angle of depression from the top of the tower to
the plane is 8°. Calcutate the length of the runway.

%EY; - o Conrmemnana
JYMUQ U\:ED‘“&M

- il_a;j_i,!,‘-;-, J -

9. A ship leaves Coffs Harbour and sails 320 km east. It then changes direction

and saifs 240 km due north to its destination. What will the ship’s bearing -

he from Coffs Harbour when it reaches Its destination, correct to two
decimal places? (HINT — Brow o diagram to help you).

Nz




SECTION SiX — Probability (8 marks)

1. What Is the sample space when rolling & standard die?

%l.zt 3, M,C,éz

(1

2. Asingle card is sefected from a standard deck of cards. Calculate, as a
fraction in its stmplest form, the probabillty of se!ectlng

. a) -Aredcard 16 = l/l /

b) Acardthatisa6 Lf/ﬁ; - t/'?) v

c} Acardthatlsnota6 Uﬂ‘.(_/;j_ = !Z/IB /

3. In abagthere are two blue marbles, 1 red marble and 1 green marble, Two
marbles are chosen at random without replacement. .
a) Draw a tree diagram fo represent all possible combinations.

/1
Gj'r‘{ e ﬂuﬂ & C:w;em ke
| A A AN
L g e
A / A R

]_[3
Loog b B

b} Use your tree diagram to é:a[culate the probability of choosing:
1. Ablue marble and then a red marble _

il.  Two marbles of a different colour

BN

{2}

— o
Z2o\-8

SECTION SEVEN - Multiple Choice

Select ONF answer per question and circle your response. Fach question Is worth one mark,

1. From the diagram below, what is the value of x?

& 31° [ML}L%)_ {149' c. 62; - b 1s5°

2, Itwa adjacent angles add up to 90° what type of angles are they?

A. Congruent B. Supplementary C. Co-interior

. Comp ementary

3. A standard die is rolled. What is the praobability of rolling a muttiple of three,
expressed as a fraction in its simplest form?

20 g 1 / R
- .= = D -
AG BZ ©3 ) 6

4. A coin is tossed six times In a row. What is the probability, as a fraction, of getting
six tails In a row?’

1 81 c
A‘eA Y 64 e

N
o)
] W

5. The mean of three scores Is 21, if  fourth score of 31 is added what is the new
mean? :

@ 235 / B. 23

C. 245 D. 26

D 11.4 cm

6. The volume of a cube is 614.125 cm?®. What is the length of one side?
/ B. 204.7 cm?

(s &5 em

¢. 102 cm?

END OF EXAM




